w ro-vw-sse EXHS(A)

(ii) PTF=¥Z=2cm
(ifd) OR = WX =23 cim
(iv) TSR = ZF = 2.1 cm
(v) SR=YX=2cm
(vi) ZPOR = L VWX = 90°
Since EFGH = LMNO, then the cormresponding vertices match.
EF = ILAM
= 3.4 cm
Gl = WO
= 2.4 cm
L FEH = 2~ MO
= 100"
L FiGH = 2 MNO
= T5*°
MN = Filr
=5 cm
QL = HE
= 3 cm
L FAMN = £ EFC
= 6BS5"
L NOEL = £ GHIE
= 120"
(a) ~ACRER = 180° —90° — 36.9° (. sum of SHABRC)
= 53.1"
LPRO = 180° —90° — 36.9° (£ sum of AP
= 53.1"°
A« P (since £ A = /P = 36.9%)
R«  (simce £ B =/ { = 90")
C e R (since £ C = AR =53.1%)
L BAC = 2 QPR = 36.9°
LARC = £ POR = 90°
L ACRE = 2 PRO = 53.1°
AR =P =4 cm
BC =0\WR =3 cm
AC = PR =5 cmn
o The two triangles have the same shape and size and so
MABC = NPOR.
(b)) A EDF = 180° — 80° — T0® (£ sum of SAOWEF)
= 30"~
L8UT = 180° — BO® — 307 (£ sum of HS5TL0)
= 70"
D« T (since 0D = T = 30°)
E «— 8 (since . E = B = 8B0")
F «— UV (since » F = »~ U = T0%)
L EDF = 2 ST = 30°
L INEF = » TS = 80°
L IWFE = 2 SUT = 70"
NE=T=18.8 cm
EF=0_R=3cm
D =T0 = 19.7T cm
s The two triangles have the same shape and size and so
SMSIDEF = ATSLS.




(¢) ZLNM = 180° = 65° = T0° { £ sum of ALMN) nen=12
2n=12

45°
[ XZY = 180° = 65° = 70° (£ sum of AXYZ) Hn=6
45° + The length of CH is 6 cm,

L& X (since LL=2X =65 (i) 2 BAC
Me Y (since M= 2Y=70% 180° - 58° — 58° (£ sum of AABC) (base Z.s of isos. AABC)
Ne Z (since ZN= £7=45% 64°
MN=42513=VYZ AACH = LABK
2+ Since the corresponding sides are not equal, ALMN is 58°
not congruent to AXYZ, LCAH = 180° = 90° = 58° (£ sum of AACH)
Since AABK = AACK, then the corresponding vertices match, 32°
LABK = LACK o LBAH = £BAC + LCAH
62° 64° + 32°
LBAK = 1807 = 90° - 62° (£ sum of AABK) 96°
28°
LCAK = ZBAK
28°
o LBAC = LBAK + LCAK
28° 4 28°
56°
Length of CK = length of BK
8cm
. Length of BC = length of BK + length of CK
8+8
16 cm
6. (i) Since AABC = ADEC, then the corresponding vertices match.
LBAC = LEDC
34°
& LABC = 180° =71° = 34°
15°
Length of CD = length of CA
69¢cm
o Length of BD = length of BC + length of CD
4469
10.9 ¢m
7. (i) Since AABK = AACH, then the corresponding vertices match,
LAHC = LAKB
180° = 90° (adj. Zs on a str, ling)
90"
Length of AH = length of AK
o OAHK is an isosceles triangle.
Let ZAHK be x°,
LAKH = ZAHK (base Zs of isos, AAHK)
X
LCHK =9%0° - x°
LCKH=90" - x°
& ACHK is an isosceles triangle.
Let the length of CH be n em,
Length of CK =nem (isos, A)
Length of BK = length of CH

nem
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Exercise 8B

1. {m) Since SHABRC is similar 1o APQR, then all the corresponding

angles are eqgual.

x® = L PR
= LABC
= O

¥ = LACHB
= L IPRQ

5"

= L OPR
= 1 80* —
= 55°

o X ="M, ¥

M® — 35° (£ sum of SMP0OR)

= 35,s=353

(b)) Since SHABRC s similar o APOR, then all the corresponding
angles are equal,

x® = L PRO
= LACB
= 28°

Ve = LIBAC
= L QPR
= 180° —
= 34°

Jo X =28,y

118° — 28° (£ sum of HPOR)Y

= 34

Object eraser




(c)

Since AABC is similar to APQR, then all the ratios of the

orresponding sides are equal.
OR _ PO

(d)

2. (a)

(h)

B AR
X _ 6
12 10
x= L % 12
10
=7.2
AC AR
y _ 6
I8 10
y= —ff- ® 18
! 10
=108

S x=72,y=108
Since AABC is similar to APQR, then all the ratios of the
corresponding sides are equal,
AC _ AB
PR PQ
g )
10
7
I= I_b % R
10
=96
PO
BC AB
10
[}
10
12

=53
i)

X
L

%7

Hx=96,y= Si
' [§]

180° - 40°
2
= 00
LC=70" (base £s of isos. AABC)
AR =50° (base Zs of isos, APOR)
AP = 180° - 50° - 50° (£ sum of APQR)
= B§0°
LA=40° B0 = LP
LB=T0°#50° = £Q
LC=T0°=50°= LR
Since all the corresponding angles are not equal, then AABC is

not similar to APQR,

LB = (£ sumof AABC)(base 25 of isos, AARC)

DE _ 33 _ 375
5T 24

EF _37 s
U 38

ﬂ = 5_4 =1.5
Su b6

Since not all the ratios of the corresponding sides are equal,
ADEF is not similar to ASTU,

3. (a)

(h)

Since ABCD is similar to PORS, then all the corresponding
angles are equal,
= £QPS
= LBAD
=95°
¥y = LORS
= LBCD
= 360° - 95° - 105° - 108° (£ sum of quad.)
= 52°
Since ABCD is similar to PORS, then all the ratios of the

corresponding sides are equal,

Lo’ .3

AR BC

g T4

T
::E HH

12

=48

LXx=95y=52,1=48
Since ABCD is similar to PORS, then all the corresponding
angles are equal.
= LADC
= LPSR
= |80° - 100° (int, Zs, PQ /! SR)
= §0°
Since ABCD is similar to PORS, then all the ratios of the

corresponding sides are equal,

PS RS
AD €D
..ll - q
1w n
Y = k *x 14
12
=105

& x=80,y=105

4. Since the two water bottles are similar, then all the ratios of the

corresponding sides are equal.

v
10

e T

* 10

Il
o

%3

oejLa oe]La

= |.875

S x=16,y=1875




EX#3(B

5. Since the two toy houses dbe similaf’, then all the corresponding angles
are equal and all the ratios of the corresponding sides are equal.
x® = 100°
v o180

180 120
180

V=
120

=270

: _ 120
150 180
0
180
100
Soa=100,y=270,2= 100
6. Let the height of the lamp be x m,
10+6
6

® 180

% 150

b o
B

Y= —uxid
i)

=8
The height of the lamp is 8 m,
7. Since AABC is similar to AADE, then all the corresponding angles
are equal,
x°= LADE
= LABC
= 56°
Since AABC is similar to AADE, then all the ratios of the
corresponding sides are equal.

AD _ AE
‘AB T AC
y+4 _06+9
T_ i
15
'T+4:Tx4
:I[}
y=6
L x=56,y=6

8. Since APQOR is similar to ABAR, then all the corresponding angles
are equal,
ZABR = £ (PR
= 60°

X = LBAR

= 180° - 60° - 52° (£ sum of ABAR)

= 68°
Since APQR is similar to ABAR, then all the ratios of the
corresponding sides are equal.

BR _ AB
PR QP
..'I - LJ
4 12
m-:i % 14
T
=105

Sox =60, y= 10,5

9,

(i) Since ATBP is similar to ATA(Q, then all the ratios of the
corresponding sides are equal.

:_A8
Y~ BP
X 6
=
x=13y

o Lengthof PA=x+y
=3y+y
=4ym
(ii) Since APTM is similar to APQA, then all the ratios of the
corresponding sides are equal,

™ _ M
0A ~ PA
™ )
& 4y

" TM = % x6 (From (i), PA = 4y)

=l5m
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Example: A and B are

mathematically similar shapes.

Find the scale factor from A to B.

S5-I

First we need to find two

corresponding lengths.

We can see that the base of A =

2antl B = D

To calculate the scale factor we

divide the lar e;rﬁyztﬁe gn

aller:
gcale factor




/3°m B |"

5cm 15cm

[2 marks]

Firstly, we must calculate the scale

factor.

To do this we divide the base of
shape B by the equivalent side
length on shape A

Scale factor =15 =-5=3

Now we have that the scale factor
is 3, all we need to do to find x is
multiply 3 by the length of the

corresponding side on the smaller
shape. So we get X=3x3=0




Exercise 8C

1. AXYZis similar to AX'Y'Z under enlargement.

S XY =10cmand ¥Z=35cm
2. (i) POQRS is similar to P'Q'R’'S’ under enlargement.
Fn’ &
-
PQ

_ 16

ik
SR
S Q'R =8cmand SR=7cm

By measuring the vertical width, which represents 28 km, we

and 2

get 3.5 cm.

Hence, the scale 1s 3.5 cm : 28 km, which1s | cm : 8 km.
By measuring x, we get 7 cm.

Actual distance between the East and West of Singapore
=Tx8

= 56 km
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